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7N ged(a(z), e(x)) = ged(b(x), c(z)) = 1 or 22 w20 oy nwdv a(z), b(x), c(x) € Flx] v .

ged(a(z)b(z), c(z)) =1

93902 1YN] 2NURT NIN IR P29 ON (DIND WHn DT MATN) 09 p(z) € Flz] o 2 o 9 .
[oTpn

ap+qb=d v 73 p,q € R[z] wem d = ged(a,b) 80 a(z) = 1+ 222, b(x) = 2+ 2 € Rlz] v ()

Ny d = ged(a, b) wen a(z) = Ta7 + 620 + 525 + 42 + 323 + 222 + 2, b(x) = 23 + 22 € R[z] v (2)
ap+qgb=d v 13 p,q € R[z]

5S¢ vNWY) MY PR f(z) 9 n"MrOoNeNT f(x) 22 wmoin .2 < deg(f) < 3 oy owhe f(z) € Flz] i (N)
(f(a) =0 07pnn a € F non f(x)

Zs[x] 2 13w NOYPIN TNN P97 DIPDI PYTa1 WY ININ (3)
79 2% + 2t + 1 € Za[z] ONA $12PY 2TD X PyDA 1RYN (3)

29 25 + 2t 4+ 23 4+ 22 + 1 € Zy[x] orn 13PY >T1D N Pyoa iyn (1)



